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c}d ²¥¾^c  

   

 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 11 \¥²y¾ h²¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 36 \of²¾ h²¾ & 

 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 

 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 

\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 

qdIVJy & 

  Please check that this question paper contains 11 printed pages. 

  Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 36 questions. 

  Please write down the Serial Number of the question before 

attempting it. 

  15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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g¥HqdW \orqIAp – II 

SUMMATIVE ASSESSMENT – II 

qeqJAp²¾ 
(\¥Op^r EdXp) 

SCIENCE 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 90 
Time allowed : 3 hours Maximum Marks : 90 

qeAp\H q²¾cYyf : 

(i) qBg \of²¾ \Wo ²¥¾v Y} _pJp£, _pJ A AWy _pJ ^ qeM e¥qTAp£ qJAp  
h± & Ap\²y¾ Y}hp£ _pJp£ Yy \of²¾p£ Yy E¨Wc qdIVy h²¾ & 

(ii) gpcy \of²¾ kcvcr h²¾ & 

(iii) \vcy \of²¾ \Wo qeM qHgy er \of²¾ qeM H}Br M}V ²¾hs h± & 

(iv) Wtgs _pJ A AWy _pJ ^ Yy gpcy \of²¾p£ Yy E¨Wc eI} eI _pJ Yy 
AZpc Wy qdIVy h²¾ & 

(v) _pJ A Yy \of²¾ g¥qIAp 1 W~ 3 Yy \of²¾ qBH-qBH A¥H Yy h²¾ & qB²¾ªp£ 
Yy E¨Wc qBH f^Y Op£ qBH epH qeM YyVy h²¾ & 

(vi) _pJ A Yy \of²¾ g¥qIAp 4 W~ 6 Yy \of²¾ Y}-Y} A¥Hp£ Yy h²¾ & qB²¾ªp£ Yy 
E¨Wc dJ_J 30 f^Yp£ qeM YyVy h²¾ & 

(vii) _pJ A Yy \of²¾ g¥qIAp 7 W~ 18 Yy \of²¾ qW¥²¾-qW¥²¾ A¥Hp£ Yy h²¾ & 
qB²¾ªp£ Yy E¨Wc dJ_J 50 f^Yp£ qeM YyVy h²¾ & 

(viii) _pJ A Yy \of²¾ g¥qIAp 19 W~ 24 Yy \of²¾ \¥O-\¥O A¥Hp£ Yy h²¾ & 
qB²¾ªp£ Yy E¨Wc dJ_J 70 f^Yp£ qeM YyVy h²¾ & 
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(ix) _pJ ^ Yy \of²¾ g¥qIAp 25 W~ 33 WH Yy \of²¾ \oa}JpW`H H¡fd Wy 
AZpqcW ^ht qeHd\r \of²¾ h²¾ & hc qBH \of²¾ qBH A¥H Yp h± & 
qY§Wy h}By Mpc qeHd\p£ qe§M Wtgs Hyed qB§H g_ W~ UtHep£ qeHd\ 
MtV²¾p h± &  

(x) _pJ ^ Yy \of²¾ g¥qIAp 34 W~ 36 Yy \of²¾ \oa}JpW`H H¡fd Wy 
AZpqcW Y}-Y} A¥Hp£ Yy h²¾ & qB²¾ªp£ Yy E¨Wc g¥Iy\ qeM qYG & 

_pJ A 

1. Eg g`OpWr dmr Yy Yvgcy AWy Wrgcy |̀^c Yp AVv-gvWc qd§I} qOgYp \±hdp 

`|^c BrXy²¾ (ethene) h± & 1 

2. HYy HYy ²¾erAp£ ^VrAp£ Tr.A±²¾.By. \oqWqnWrAp£ (copies) gcep£Jg` (g`cv\) 

²¾hs ht¥YrAp£ & qBH Hpc²¾ qYG & 1 

3. hyS¾ qYWr JBr Aphpc dmr qeM \¡Zy MvqhAp£ ²¥¾v 500 J FcOp YzYy h²¾ & ^pOp£ 

²¥¾v g§\p W~ qHW²¾r FcOp E\d^Z h}eyJr ? 1 

\¡Zy   Mvhy¾   g§\   ^pk 

4. H}Br q ¥̂^ (egWv) 20 g±.`r. ³}Hg Yvcr Yy E¨Wd d±¨²¾k W~ 15 g±.`r. Yvcr 

E\c gqXW h± & d±¨²¾k cphr ^Vy \oqWq^¥^ Yy Mpc dNVp£ (\cqHcWr, gqXWr, 

ApqY) Yr gvMr ^VpG & 2 

5. qHgy er g`pO qeM g¥gpZ²¾p£ Yr e¥T Yp ^cp^c h}Vp qHE¤ kcvcr h± ? E²¾ªp£ Y} 

WpHWp£ Yr gvMr ^VpG qOhmrAp£ qBg e¥T Yy qectZ h²¾ & 2 

6. gp²¥¾v Ap\Vy O¥Jdp£ (eVp£) Yp gtcqIAV qHE¤ Hc²¾p MphrYp h± ? O¥Jd e§UV 

Yy dBr Ot`zepc Y} HpcHp£ Yr gvMr ^VpG & 2 

7. ApZtq²¾H ApecWr gpc²¾r qeM ApecWp£ (\rqcAT) AWy g`vhp£ (Jct\p£) Yr 

qJVWr qd§I} & (i) qHgy ApecW qeM Iq^G g§Oy ed Op£Yy h}By AWy (ii) qHgy 

Jct\ qeM E\c~ hyS¾p£ ed Op£Yy h}By W§Wp Yy ZpWqeH d§NVp qeM qHez 

\qcecW²¾ ht¥Yp h± ? Ap\Vy E¨Wc Yr Hpc²¾ gqhW \tfRr Hc} & 3 
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8. Na, Mg AWy Al ApZtq²¾H ApecWr gpc²¾r Yy Wrgcy ApecW (\rqcAT) Yy 

W§W h²¾ qO²¾ªp£ Yy Jct\ g¥qIAp Hc`epc 1, 2 AWy 13 h²¾ & qB²¾ªp£ qeM} qHg 

W§W Yr (a) g¥a}OHWp g_ W~ eZ h±, (b) \c`pVv AcZ qeApg g_ W~ eZ h± 

AWy (c) g_ W~ qkApYp cgpqBqVH qHqcApfrdWp h± ? hc qBH dBr Ap\Vy 

E¨Wc Yr Hpc²¾ Yy Hy \tfRr Hc} & 3 

9. Hr ht¥Yp h±, OY~  

 (hc qBH Yy g¥Yc_ qeM cgpqBqVH g`rHcV er qd§I}) 

(a) BrXp²}¾d hep qeM ^dYp h± ? 

(b) BrXp²}¾d ²¥¾v g¥KVy H
2
SO

4
 Yy ^htWpW qeM 443 K Wy Jc` HrWp Op£Yp 

h± ? 

(c) BrXp²}¾d qeM g}qTA` Yp RtHmp \pqBAp Op£Yp h± ? 3 

10. BygRcrHcV qHqcAp Yr qeApqIAp cgpqBqVH g`rHcV Yr ghpqBWp ²¾pd 

Hc} & BygRcrHcV YcgpV Yy dBr qHgy gcJc`r (AyHqRqeRr) Yp g¥Iy\ qeM 

ecV²¾ Hc} & 3 

11. Y} UtHerAp£ EYphcVp£ Yr ghpqBWp ²¾pd qeApqIAp Hc} qH d}Hp£ cphs Ap\Vy 

Ore²¾ Hpd Yy HtP A²¾®_e AWy d§NV E²¾ªp£ YrAp£ AJdrAp£ \rmªrAp£ qeM 

qecpgW A²¾®gpc qHE¤ ²¾hs ht¥Yy & qBg Wcªp£ Yy dNV HY~ AJdrAp£ \rmªrAp£ 

²¥¾v Zc}hc Yy cv\ qeM \ht¥MpBy Op gHYy h²¾ ? 3 

12. ‘‘Ore qeHpg AWy ecJrHcV Ap\} qeM Otmy h}By h²¾ &’’ qBg HX²¾ Yr Hpc²¾ 

gqhW \tfRr Hc} & 3 

13. \oOV²¾ gOrep£ Yp qBH ^htW hr `hWWp \vc²¾ d§NV h± & qBg HX²¾ Yy \§I 

qeM qW¥²¾ Hpc²¾ qYG & 3 

14. cpqBk}\g qeM ^rOpVvAp£ (g\}cg) cphs \oOV²¾ Yp ecV²¾ Hc} & 3 
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15. Jc_ Zpc²¾ ²¥¾v c}HV Yy dBr ^VpBrAp£ JBrAp£ qW¥²¾ qeZrAp£ Yr gvMr ^VpG & 

qB²¾ªp£ qeM} qHhmr WH²¾rH \tcfp£ Yy dBr ²¾hs h± ? qB²¾ªp£ WH²¾rHp£ Yr ecW~ 

qHez qHgy \cepc Yr qghW AWy Itfhpdr ²¥¾v \o_peW HcYr h± ? 3 

16. qHgy HzYc t̀Ir (Aq_gpcr) d±²§¾k cphs qHgy q^¥^ Yp ApHpc qW¥²¾ JtVp eqZAp 

h}qBAp (a) epgWqeH, AWy (b) Ap_pgr \oqWq^¥^ ^V²¾p YcgpV Yy dBr qHc²¾ 

qM§Wc ^VpG & hc qBH qM§Wc qeM O, F AWy 2F YrAp£ gqXWrAp£ er A¥HW 

Hc} & 3 

17. ‘g³±Y \oHpf Yp qeIy\V’ W~ Hr AcX h± ? qBgYp Hpc²¾ qd§I} & H§M Yy q\ok` 
cphs g³±Y \oHpf Yp qeIy\V YcgpV Yy dBr qHc²¾ qM§Wc ^VpG & 3 

18. (a) Od (\pVr) qBH ^htW hr `hWe\vc²¾ HtYcWr g¥gpZ²¾ h± O} Ore²¾ Yy 
dBr A¥q`oW h± & WthpTy qeqJAp²¾ Yy AqZAp\H qBh Mpht¥Yy h²¾ qH 
Wtgs qBH cM²¾pW`H `td¥HV epdr gcJc`r (A±HqRqeRr) Yy dBr 
‘‘Ore²¾ `Br HtYcWr gc}W — Od ²¥¾v qHez ^VpBrBy’’ Yy qefy E\c 
H}Br qBH a}O²¾p ^VpG & ‘Od ²¥¾v qHez ^MpBrBy’ Yy ^pcy qeM Ap\Vy 
Apdy YtApdy Yy d}Hp£ qeM gMyW²¾Wp \±Yp Hc²¾ Yy dBr H}Br Y} WcrHy 
gtPpG & 

(b) qHgy qBH E\p Yp ²¾p` AWy EgYr qeApqIAp Hc} qOgYy cphs _¢ Od 
gWc ²¥¾v h}c hyS¾p£ qTJV W~ c}qHAp Op gHy & 3 

19. (a) q²¾HR qYofRr Y}f ²¾pd YtIr H}Br qeqYApcXr 5 `r. W~ eZycy Yvcr E\c 

gqXW q^¥̂ p£ ²¥¾v gp³ ²¾hs YyI gHYp & qBg qYofRr Y}f Yy \±Yp h}V Yy 

Y} g¥_e Hpc²¾p£ Yr gvMr ^VpG & qHc²¾ qM§Wc Yr ghpqBWp ²¾pd 

qeApqIAp Hc} qH 

(i) qBh qeqYApcXr 5 `r. W~ eZycy Yvcr Wy gqXW q^¥̂ p£ ²¥¾v gp³ qHE¤ 
²¾hs YyI gHYp & 

(ii) qBg qYofRr Y}f ²¥¾v S¾rH Hc²¾ Yy dBr qHg \oHpc Yy d±¨²¾k Yr 
ecW~ Hc²¾r MphrYr h± AWy qBg d±¨²¾k Yy E\a}J cphs qBh Y}f 
qHez S¾rH h} Op£Yp h± &  



41/2 6 

(b) OyHc qBg hpdW qeM g¥f}ZH d±¨²¾k Yr ³}Hg Yvcr Yp g¥qIApW`H 
`p²¾ 5 `r. h± Wp£ ²¾es HpcWr qMh²¾ \c\pRr Yy A²¾®gpc qBg d±¨²¾k Yr 
fHWr \Wp Hc} & 5 

20. hyS¾ qY§Wr JBr q²¾crIV gpcVr Yp qefdyfV Hc} qOg qeM EWd d±¨²¾k Yr 

gqXWr qeM q ¥̂^-Yvcr (u) Yy ²¾pd \oqWq^¥^-Yvcr (v) Yp qeMcV (W^Yrdr) 

YcgpBr JBr h± AWy q^²¾p qHgy dyIp O}Ip HrWy qBg hyS¾ qd§Iy \of²¾p£ Yy E¨Wc 

qYG : 5 

n` 
g¥qIAp 

q^¥^-Yvcr  
u (g±.`r.) 

\oqWq ¥̂^-Yvcr  
v (g±.`r.) 

1 – 100 + 25 

2 – 60 + 30 

3 – 40 + 40 

4 – 30 + 60 

5 – 25 + 100 

6 – 15 + 120 

(a) EWd d±¨²¾k Yr ³}Hg Yvcr Hr h± ? Ap\Vy EWc Yr \tfRr Yy dBr 
Hpc²¾ qYG & 

(b) Eg q²¾crIV Yr n` g¥qIAp qd§I} O} ghr ²¾hr h± & qBh q²¾fHcf Wtgs 
qHg ApZpc Wy HqUAp h± ? 

(c) qHgy EqMW \±`p²y¾ ²¥¾v MtVHy n` g¥qIAp 2 Yy q²¾crIV Yy dBr qHc²¾ 
qM§Wc ^VpG & eTYcf²¾ Yp dJ_J `p²¾ er \Wp Hc} &  

21. (a) OyHc qHgy Yc\V cphs q ¥̂^ Yr qHgy er gqXWr Yy dBr h`yfp£ hr 
N}Rp, qg§Zp AWy Ap_pgr \oqWq^¥^ ^VYp h±, Wp£ qBg Yc\V Yr 
\cqHcWr qd§I} AWy Ap\Vy E¨Wc Yr gMpBr qg§Z Hc²¾ Yy dBr qBH 
qHc²¾ qM§Wc ^Vp Hy qgZ Hc} & qBg \oHpc Yy Yc\Vp£ Yp qBH E\a}J 
qdI} AWy qOgYy Hpc²¾ qB²¾ªp£ ²¥¾v hr ecqWAp Op£Yp h± EgYp ecV²¾  
Hc} & 



41/2 7 P.T.O. 

(b) J}dpHpc Yc\V Yr eHcWp AcZ qeApg Yr \qc_pfp qdI} & qHgy 
J}dpHpc Yc\V Yr \oqHcWr AWy ³}Hg Yvcr \Wp Hc}, qOgYr eHcWp 
AcZ qeApg + 24 g±.`r. h± & 5 

22. hc qBH Yp qBH qBH EYphcV Yy Hy AcOW AWy qecpgW qeM q`dy d§NVp£ 
Yy Ycq`Ap²¾ A¥Wc g\fR Hc} & qHgy qBHdy Ore cphs Ap\Vy gpcy Ore²¾ g z̀ 
qeM AcOW d§NV/A²¾®_e AJdr \rmªr qeM qecpgW qeM qHE¤ ²¾hs ht¥Yy ? 

qBg gMpBr Yp Hpc²¾ EYphcV Yy Hy g\fR Hc} & 5 

23. (a) `²¾®Xr `pYp \oOV²¾ W¥Wc Yy hyS¾ qY§Wy _pJp£ Yy H¥`p£ Yp ecV²¾ Hc} : 

(i) A¥T H}f 

(ii) Jc_ H}f 

(iii) ³±d}q\A²¾ qRav̂  

(b) `²¾®Ir `pYp qeM \d±gzRp Yr g¥cM²¾p AWy H¥`p£ Yp ecV²¾ Hc} & 5 

24. HtP a¡qJHp£ ²¥¾v hpqBTc}Hpc^²¾ qHE¤ qHhp Op£Yp h± ? BydHy²¾, BydHr²¾ AWy 

BydHpqB²¾ YrAp£ g`OpWr dmrAp£ Yy gpZpcV (general) gvWc qd§I} AWy hc 

qBH dmr Yy \±hdy `|̂ c Yr g¥cM²¾p er qI§M} & BydHr²¾ ²¥¾v BydHy²¾ qeM ^YdV 

Yr qHqcAp Yp ²¾p` qd§I} AWy cgpqBqVH g`rHcV cphs qBg qHqcAp Yy h}V 

Yy dBr kcvcr \qcgqXWrAp£ ²¥¾v er YcgpG & 5 

_pJ ^ 

25. qHgy qeqYApcXr ²¥¾v EgYr \oa}Jfpdp qeM \oa}J Hc²¾ Yy dBr HS}¾c Od 
MphrYp h±, O} qH Apg \pg Yy qBdpHy qeM E\d^Z ²¾hs h± & \oa}Jfpdp 
qeM HtP deV h²¾, O} gp³ \pVr (qTgqRdT epRc) qeM K}dV Wy Eg²¥¾v 
HS}¾c Od ^Vp gHYy h²¾ & deV Yy hyS¾ qYWy g`vhp£ qeM~ Eh g`vh MtV~ 
qOgYp hc qBH deV gp³ \pVr qeM K}dV Wy Eg²¥¾v HS}¾c Od ^Vp YyeyJp & 1 

(A) g}qTA` Hd}cpqBT, \}RpqfA` Hd}cpqBT 

(B) g}qTA` gd³yR, \}RpqfA` gd³yR 

(C) g}qTA` gd³yR, H±dqfA` gd³yR 

(D) H±dqfA` gd³yR, H±dqfA` Hd}cpqBT 
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26. gp^v²¾rHc²¾ qHqcAp Yp AqZA±²¾ HcYy eHW Wtgr ^rHc qeM OY} ^cp^c 

`pWcp qeM qHgy c¥Jhr² ^²¾pg\Wr Wyd qeM NaOH Yp 20% \pVr qeM K}d 

q`dp£Yy hp£, Wp£ Hr q²¾crIV HcYy hp£ ?¾  1 

(A) q`dpeR Yp c¥J Jqhcp _vcp h} qJAp h± 

(B) ^rHc qeM WyO ³tg³tgphR h} chr h± 

(C) ^rHc Yr ^phcdr gWh Jc` h} JBr h± 

(D) ^rHc Yr ^phcdr gWh S¥¾Ur h} JBr h± 

27. Wtgs qBH \cI²¾dr qeM g}qTA` ^pBrHpc^}²y¾R Yp \pFTc d±Hy Eg E\c HtP 
^v¥Yp£ ByqgqRH A±qgT YrAp£ \p£Yy hp£ Wp£ hyS¾ qdqIAp£ qeM~ qHhmp q²¾crIV 
Hc}Jy ? 1 

(A) H}Br qHqcAp ²¾hs ht¥Yr 

(B) qWIr J¥Z epdr c¥Jhr²¾ J±g Yp WyO ³tg³tgphR Yy ²¾pd q²¾HdVp 

(C) WyO ³tg³tgphR Yy ²¾pd _vcy c¥J Yr J±g Yp q²¾HdVp 

(D) c¥Jhr²¾ AWy J¥Zhr²¾ J±g Yy ^td t̂dy ^²¾Vp 

28. hyS¾ qYWy qHc²¾ qM§Wc Yp AqZA±²¾ Hc} :  

 

qBg qM§Wc qeM Ap\W²¾ H}V, q²¾cJW H}V AWy qeMd²¾ H}V ²¥¾v Hc`epc qH²¾ªp£ 
Yy cphs q²¾cv\W HrWp qJAp h± ? 1 

(A) y, p, z 

(B) x, q, z 

(C) p, y, z 

(D) p, z, y 
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29. H}Br qeqYApcXr ^htW qZAp²¾ ²¾pd Ap\W²¾ H}V ( i) Yy eI}-eI `p²¾ Yy 
dBr HM Yy gd±^ (qg§dr) qeM~ JtOc²¾ epdrAp£ \oHpf qHc²¾p£ Yp \§X 
EdrHYp h± & hc qBH Ap\W²¾ H}V Yy A²¾®gpc A\ecW²¾ H}V ( r) AWy 
q²¾cJW H}V ( e) Yy g¥JW `p²¾p£ ²¥¾v `p\Yp h± & qB²¾ªp£ H}V Yr `p\p£ Yp 
qefdyfV HcHy Eg²¥¾v Hr ²¾WrOp HUVp MphrYp h± ? 1 

(A)  i >  r >  e 

(B)  i =  e >  r 

(C)  i <  r <  e 

(D)  i =  e <  r 

30. qYWy JBy qHc²¾ qM§Wcp£ Yp AqZA±²¾ Hc} AWy hyS¾ qdqIAp£ qeM~ ghr HX²¾  
MtV} : 1 

 

(A) OtJW X AeWd Yc\V AWy OtJW Y E¨Wd d±¨²¾k h²¾, qO²¾ªp£ YrAp£ 

³}Hg YvcrAp£ Hc`epc 20 g±.`r. AWy 25 g±.`r. h²¾ &  

(B) OtJW X E¨Wd d±¨²¾k AWy OtJW Y AeWd Yc\V h²¾, qO²¾ªp£ YrAp£ 

³}Hg YvcrAp£ Hc`epc 10 g±.`r. AWy 25 g±.`r. h²¾ & 

(C) OtJW X AeWd d±¨²¾k AWy OtJW Y E¨Wd Yc\V h²¾, qO²¾ªp£ YrAp£ 

³}Hg YvcrAp£ Hc`epc 20 g±.`r. AWy 25 g±.`r. h²¾ & 

(D) OtJW X E¨Wd d±¨²¾k AWy OtJW Y AeWd Yc\V h²¾, qO²¾ªp£ YrAp£ 

³}Hg YvcrAp£ Hc`epc 20 g±.`r. AWy 25 g±.`r. h²¾ & 
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31. H}Br qeqYApcXr E¨Wd d±¨²¾k cphs qHgy ^htW Yvc \By q ¥̂^ Yp Zt¥Zdp 

\oqWq ¥̂^ \cYy E\c \op\W HcYp h± & \cYy E\c g\fR \oqWq^¥^ \op\W Hc²¾ 

Yy dBr Yc\V ²¥¾v qIgHpVp \ByJp 1 

(A) \cYy W~ Yvc 

(B) \cYy Yy ed 

(C) qHgy AOyhr gqXWr Wy O} \cYy W~ Hp³r Yvc h± 

(D) ap Wp£ \cYy Yy ed Op£ \cYy W~ Yvc, qBh q^¥̂  Yr gqXWr E\c q²¾c_c 
h± 

32. Y} ^rO\Wcr ^rO Yy _cvV Yy eI} eI _pJp£ ²¥¾v \Np²¾V Yp \oa}J Hc²¾ Yy dBr 

g_ W~ \qhdp£ Wthp²¥¾v H}Br Y} ^rO\Wcr ^rO MphrYp h± & hyS¾ qYWy g`vh qeM 

Y} ^rO\Wcr ^rO MtV} : 1 

 HVH, M²¾p, `HBr, `Rc, O~, ¥̀vJ³dr 

(A) HVH, M²¾p AWy `Rc 

(B) M²¾p, `Rc AWy `v¥J³dr 

(C) `HBr, `Rc AWy O~ 

(D) M²¾p, `HBr AWy v̀¥J³dr 

33. qBH R}Hcr qeM hyS¾ qdIrAp£ g^krAp£ \BrAp£ h²¾ : 

 Apdv, R`pRc, `vdr, ^|JV, JpOc, KrAp 

qB²¾ªp£ qeM qHhmrAp£ Y} g^krAp£ g`OpW g¥cM²¾pep£ Yp ghr q²¾cv\V HcYrAp£ 

h²¾ ?  1 

(A) JpOc AWy R`pRc 

(B) Apdv AWy ^|JV 

(C) `vdr AWy JpOc 

(D) `vdr AWy KrAp 
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34. H}Br qeqYApcXr 10 g±.`r. ³}Hg Yvcr Yy E¨Wd d±¨²¾k Yr ecW~ HcHy d±¨²¾k 

W~ dJ_J 2 `r. Yvcr E\c cIr h}Br `}`^Wr Yr dpR ²¥¾v \cYy E\c ³}HqgW 

HcYp h± & qBg W~ q\N~ Eh dpR ²¥¾v Zrcy-Zrcy d±²§¾k Yy ed qIgHp£Yp h± AWy 

ec epc EgYy \oqWq ¥̂^ ²¥¾v \cYy E\c ³}HqgW HcYp h± & 2 

(A) \cYy E\c dpR ²¥¾v ³}HqgW Hc²¾ Yy dBr Egy d±¨²¾k ²¥¾v qHg qYfp qeM 
qIgHpVp \|Yp h± ? 

(B) \cYy E\c dpR Yy \oqWq^¥^ Yy gpBrk qeM Hr A¥Wc Ap Op£Yp h± ? 

(C) \cYy E\c dpR Yy \oqWq^¥^ Yy qWIp\²¾ qeM Hr A¥Wc qYIpBr YzYp  
h± ? 

(D) OY~ dpR d±¨²¾k Yy ^htW Hcr^ (dJ_J 5 g±.`r. Yvcr Wy) ht¥Yr h±, Wp£ 
\cYy E\c Hr qYIpBr YzYp h± ? 

35. \oa}Jfpdp qeM gp v̂V ^²¾pEV Yy dBr kcvcr g`p²¾ (cgpqBqVH \YpcXp£) Yp 

ecV²¾ Hc} & gp^vVrHcV qHqcAp Yy \oqWqHqcAp q`fcV Yr \oqHcWr 

(Agdr/Ipcr) Yp q²¾crIV Wtgs qHez Hc}Jy ? g¥Iy\ qeM ecV²¾ Hc} & 2 

36. A`r^p qeM Y} I¥T²¾ \oqHqcAp ²¥¾v (Mpc McVp£ cphs) Hc`epc qM§Wc ^Vp Hy 

YcgpG & 2  
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